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10. Select four numbers from 0,0,1,1,2,2 to constitute four figures (PUf7 %) . There should be (how

BSEFFERAIESEZBEEEZTIRA, EHEGASRN;: FAHNENBEERATEMS! ) cour fi
B EEY, BEARESOLNLESTE RASERSEES IR SR many) . fournigures.
HET=;R 1 2 3 4 5 6
1. H. LM A. B FTHURIN R A AT, AR AM40T 80 K, ZA4040T 60 K, Hk—
. . . 0 v o ” BRI LG, — NAEBE A 600 KAMHIE. R R S e T b o)L, A
ot 600 KALMIE, WA FLEETEET
— o3l A S o Y WA s o ke | o 3 A DAY
v HEET (RNVEL 49y, 24 9) 12, —ANVUREEL, LD R KT B HE S B 55 1 DU B 35 B NI DO B8, 3 = A DU iz 3

6246, A JRIMAIECH

1. 1F5: 20132014 x 2014 —20142013 x2013=
2. BNIBH “@7: 203=2+22+222=246, 3@2=3+33=36, 1®4=1+11+111+1111=1234, ..., 13. BIZE 1 70 5 0. 10 JCMIARHZ Tk, 251 J0R1 S Ll —i, V45 3.5 6, Wi 1 76
O a®b=49380, HAbSa=____ . 10 JEMBAE—E, FH 7 76, WRFHON 2 % 50 TIILET, PUH T R FE 4 7.5 7.
A RILH UG
3. Asshownin figure: the length of the rectangle is 8, and its width is 6.
to make three isosceles (%5%) right triangles on the basis of the =, fEAE (F/NT10+12412 4y, 3L 34 40
rectangle. The area of the whole flgureis______ L 14, VA FIHIGECT 2 W DNE SRS B 5, A0 Urs (T 2 I A AR)
w 9 8 7 6 5 4 3 2 1=2013
4. TEAEFE NN TEAN Ly ML 1. Wy C PN R C
{EAFEEAT . BEAUI) 5 ADNFREEAMIE, A% 447 ETA ;
e V_' = .
FTRHKOGE Iv;
4 D
5. A MEEp B R e A HRE, A 7N, R D AR H SRR,
MALE R0 2003 AEARIURL I FED 7, de e moe A 15. W, {EIEJ7% ABCD ', CH=HD, BE=2EC, AF=10J8X, Hpjk
B2 B THAAESE, WA IETTTE ABCD IWTHEUE P K H
6. W. 4. WENFRELAMIE, ASHERERIY 725, S 18 B, LZNFR F
2 45, MASFRNRFRZE_ % B = C

HUB ML (RN 6 4y, Jk 42 49)

Bk

16. = ZREBREM = MIBINAZE: R FRLBOR AR T28 =R & B K. A KN
1KLL, ZHOEn NBE (n>2) , BB EEA/DN Flem, WERITHAEE =D BAAHER L
=M%, Wn s KEN

7. 123A NI S2BE BRI 51 (FDh 1236=1x642x6'43x6°=5 1)
'\L‘[‘ﬁ : 201 3(4)+201 3(5)=____(9);

8. A 1~7 HINFE R T AN, iSRRI L 7 RIS
Mn T A R
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X BT E: 904 & EHEEES: 100 B4
BE2ESFFEBAISEEEESIARA, EEBAESRN; FHREHNBERATERS!
B EET, FEANATOLINP EEIRE; REEERREEEIEANTENRS!
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EE; 1 2 3 4 5 6
7 8 9 10 11 12 13

i/\/f%i)j\.l (/J\%fj\'4§3\’ 124 43)

W 20.13%33+20.13x66-20.13x99=_ . (GRS RGN EUER)

There are 50 students in Class 1 Grade 5, among which, 20 students can play Pingpong and 36
are the students who could play both

games than the students who could not play both games?.

WRAHIA TS 24 3. APEL =ML B L, WHRHE T EgE HAERPI 1
WK 5 MREFIL =, WARDHFENEL=ME_ A

BE R, H R 18 RATBSER, 25T/ 3 K2R, If’E%@E%FSETé, LI

10 KJGIEH 40 MBI, WBAXMFMILG A
LB HAMF R EC -, HAERN B 11, 25 BRI AREy

AN RAGE S Lt e, Y A, oBUE B, TR 4. B C
=N, AUl CECRERL, BABMEEH: 7 Cut: ‘A4 HEAN, — MR,
—ARTHG 7 IBAEX =N, e

iﬁﬁ%{l@ll (/J\/%)_ﬁ6§j\, ;:I\:42 )

e, L, 1 1 1 RS B
20x39  20x41

+ + +
Ix3 2x3 2x5 3x5 3x7
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8. K, ENLIBRELNFA AL, Wadaedit
QINCE SV VAL

0. ATV ababab s G4 T 1 dbeabe HASRIEL EAIMBR AR

10, 44 1~6 3 6 MBS « D0 T[] 7 0 <007 o, I8 AA SR E M AL
CORIRAME =

. . ZFADHIM A BFHIE CR—ERININR), 154, B ZINSMiEREs), F Uil
AAHIEAE C b, 5 UG HAHEAE D #y, 28 =VCWRIAHEE E #y, # AC:CB=5:2, AD:DB=4:3,
A AE:EB= .

12 HORREHINZ N IMC Y. B & 3 MUZERN, Hh BRI LA AR F B
aﬁg, é?i%“ﬁ%%[y\%iﬁMﬁ%%MAﬁEﬁ%, WU R Lk 12 A, R 36 A Bl G

BARRNGIHE RN, BESLAE HZ, GESRIIARINGIHE RN, BES LR

e FZ A3 AMENIT . AT
13. As shown in figure: in square ABCD, BE=2CE, F is on line AE, and AF=2EF. 4 D

Draw a line through F and make it intersect AB and CD on G and H. If the

area of A AGEF is 48, and the area of quadrilateral (JUiZ/£) FECH is 59, so o F 7

the area of square ABCD is . B C

=, I CRE/NE10+12+12 43, 3 34 )
14, R 10 AR IERE RS, AEARAERANRBI 3 M2 AT 20,
AKX 10 M A B AMER

15. WE, fEHMAABC Y, £4=90°, AB=16, AC=12, 4 WL EMilh '
B

FARFEAMEL, AL 5508 Dy E, %45 DE, 1L
DE JyEARMEE, AR MIHR s 5 (il 3D

16. A1 KN 360 KIFAEHIE, FM A ik 20 )5, LA mmtik, WAL B &5
T UCTHARE, A LR R Ay T, B A IR ORI A ZREAE R SE
g B, JF s B SR A B i, Z38 B 2R SL 2R, HA R R 20%,
GREEHTHE, TBAPINSTER R A4 5 36 KM IR mAE, W2 Fr s oK
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HLVIN

5

EE; 1 2 3 4 5 6
7 8 9 10 11 12 13

v BT (RN 4 73, 3L 2490

12 2241 3*+2

2012 +2011
+ + + =
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7 : + = H
i 2012x2013 ——

As shown in figure, the 671 area Hexagon (IF/NiZJE)  with each edge
extends 1 time, to make a bigger Hexagon, what is the area for this bigger

Hexagon
D+;1
e—
1L 20 30 4N “ D+i” ff«O” wy, WaGEKEN
FEPRIE SR, AR B BACRAR R 7, A RUR 8 a b c
AFREC WA avbrerd=_ —a b ¢ 8
d 8 8 d

5 A NHATRIRAGHILTE, BE: it R/E2 2, - RPFos, FRE1
PEBREE AU, KL 5 N2 EE 1 5 A AREL ﬁ‘ﬁﬂ% UCEERTAE T 44 R LA
N, BAmZA_ e

o LI AL B BHLIRIIN R, fE A B Z[a)SJAEIRIES), 5 IRAE C 1L

—ild, 9 IRAE D HESR| i, ¥ AC:CB=52, A4 AD:DB=

AL (BN 6 7y, L4253

AEHTH [ AT 5t AL, AR IR S T DU A S 2e vl e, P L REIE A DU 564,
FNAHIEHE AR A S A HCT 87 8“6 “MAEET “47 , MA AR |
fi_ Pk #%;
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16.

As shown in figure, in a cuboid (37 J574K) of 15 length, 3 width and 5 ;
height, an ant crawls along the surface of the cuboid from point A to Point E
B, how long is the total route (%) for thisantat least. -, P

S—— A

183t “ ABCDx ABCD = 4B lcp 7 v, kiR B AR %7, R M
FRMREAF ST, “0O17 AR, 4 ABCD £oxVufrsey i

//\\ 7 9 11
mE, WHEHE =M B---C, B« C N k1 ATP/ANEAIIEL, 13 15 17 19

A K KATAE By CHPIE FITM%, 50— = R0 B s AT
A+B+C=2013, 4 A=

E%HE”‘%T%%T%ﬁI/\E’Ji&K Il TN 1.5 6%, B3 T TSP RN T
AN, R TN NEE N 2T 10 A, X se AP35 4E N AsE/NEin T

69 /1\, Marh P TSNS ILT
AN 5 AN FARE, AN 21 10 MR =21  NES R

WK, e ABCD Y, FIEBCH LJE AD I 2%, C41ABOC
TR Ky 40, NOE WIRIRN 3, IBANACDE fiAy

A2 CRE/NMEL 10412412 4%, 35 34 43) A .
%%{ “20132013---2013 7 BRLL999 R0k

20134~2013

HL s L TV S AL 66 %, AN NIMERIANEE, T, AWANFERZZEN 19X,
L NMNIERR 2 ZE 0T X, TN TMANSER 2 ZE NS %, TV IRNIERR 2 Z2 04 %, TR
P NAERS Z 220 11 %, B2 RIAERS K %

HL LN S5 MAHEE 150 TK1 4. B WA 5. 1= 8:00 Hik, AHRIMAT, 10:30 i
PINAHIELE C Hb, ARG PN NGRS BT AR RTSAT . 10:36 I, HI 55300 i % 4= ok
(FINAHIEAE D b, TINTEREES 4 M 58 TRk E B 4. 5 HE RN 40 Tk, A
NN B b H R 1 B 1) 2
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